21.

22.

23.

24.

State and prove lBernoulli’s theorem.

QuirGanred CaHYEMS gl Bles.

Describe the exﬁe“ri1nenta1 determination’ of
thermal conductivity by Lee’s disc method.

S ar® wepuler Gaud sL&sH Spen &TEmILD
SIS (PP ARG

Describe Carnot engine and calculate the
officiency of Carnot engine.

sriCarm - @ubSrsas upd  edleTaEs OHID
sriGanm @upSrsslen LI SHpmas samsS0s.

How do you calculate the wavelength of the given

monochromatic light using Newton rings?

Bl L QUGN ETWIRIGEN LY M= (I GYF:3)
Qar@ésiur L @hepHD. gaflfer e Bersams

GTeuaImm STERTIIMUL ?
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PART A — (10 x 2 =20 marks)
AhsWéf any TEN questions each in 30 words.

What are torsional ‘os'éil'lations?
TWEG DI EGET GTEMDITE) GTETE ?
Define Poisson’s ratio.

LUmGTen S&Henal eUenTLDl.

Define Stress.

S HENG GuEOTWII.

What is viscous force?

Ul clians eremmimed Gremme ?
Define co-e-fficiént of viscosity.-
Lirdlwiéd eramenamr eUenTWDI- '
Write Green house effect.

L&E®LDE (SlqP aﬂ.@mwm@@gﬂ.

Sfcate Wien’s displacement law.
Qwerm @GL-u Q‘uuﬁ&é‘l el Sanw g s
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